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B.Se. DEGREE PROGR.AI\GNIE LEVEL 05
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' BOTANY
' 'BOU 3106/BTU3111/BTE 5111— PLANT BREEDING

' DI'J_RA'IION-: Two 02) HOURS

DATE : 28. 11. 2012 | TIME : 1.30-3.30 p.m.

ANSWER ANY FOUR (04) QUESTIONS -

1. - a) Whatare the practices adopted in seed production of a new vari‘ety ? .

b) Descnbc the various.classes of seeds that are recogmzed by seed certification
agencws ‘

¢) Oui-line the procedu;e by which a new variety réaches thé farmer.

d) Describe how a variety is cefﬁﬁei

2. a) Whether a plant is predominantly selfed or predommantly outcrossed w111
depend on several factors.

i) What are these factors 7

if) Give a brief account of each factor.

b) What is male sterility ? Explain.

cg



| a) Asexua]ly propagated plants have a varied nature of propagatlon.
' What are: the dﬂ'ferent breedmg methods identified for these plants ?

b) A clone is always propagated and: mamtamed vegetatlvely This is the main way by
L 'Whlch a clone differs from the pure line of self pollinated crops and inbred line of

Cross polhnated crops..
G1ve the main différences among pute ]me mbred line- and clone

- 1) ‘Give an account of the procedure of clonal selectlon of asexually propagated
plants B

i) What are the advantages and drawbacks of clonal selectiori ?

a) What is Hybnd Vlgour 7

b) Explam bneﬂy how hybnd vigour is utlhzed ina breedmg programme

. 7'0) |
1) Use a flow chart to expla.m the Modlfied Bulk method of breedmg a self
" -pollinated crop.

11) Give a. companson of Pedlgree and Bulk methods of breeding self
pol]mated crops o

a) What ishéritébility.?

b) Two homozygous varieties of wheat were crossed to produce F hybrids. The
average phenotyplc variance in yield of the three populations Py, P, and F, ,
was 12.20. The variance of F; was 22.20.

i) Calculate the heritability of yield in the F, population.

¢) Inrice, the inbred lines, L1, L2, L3, L4 and L5 were crossed in all possfble
combinations in a dialle] cross. The progeny produced the following data for
the yield.



L L2 L3 14 L5

L 30 32 4 31 30
12 40 39 41 34 3
L3 41 38 41 35 35

| L4 31 40 38 34 29

LS5 31 33 30 26 19

i) - Caloulate the General Combining Ability (GCA) of each line.

iy Select the best line for GCA.

.a_)

i) W'hat'-is somoclonal variation ? _‘
ii) What are the factors that affect somoclonal vanatlon ?
b) Explam how somaclonal vanatlon can be ut111.zed for crop mprovement.

c) What are the advantages and disadvantages of applymg somoclonal variation in
‘crop improvement ? . :
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